BB.tp.e.LT[18]-DBB.I11a[0]*0.5

BB.tp.e.LT[18]-DBB.I11a[0]*0.5

Left_time_vs_adc_el8 l

ef_time.vs_ade_e1e)

sy s oo | =416

0 500 1000 1500 2000 2500 3000
BB.tp.e.LApedc[18]

Left_time_vs_try_el8 I

0 —— 7
* ’ ¢

4F PR

6F RMsy 3481+ 003958 g

-20!
-0.25-0.2-0.15-0.1-0.05 0 0.050.10.150.20.25
BB.tp.try[0]

BB.tp.e.RT[18]-DBB.11a[0]*0.5

BB.tp.e.RT[18]-DBB.11a[0]*0.5

Right_time_vs_adc_e18

500 1000 1500 2000 2500 3000
BB.tp.e.RApedc[18]

Right_time_vs_try_el8

ight_time_vs_ry_e1

-20!

-0.25-0.2-0.15-0.1-0.05 0 0.050.10.150.20.25
BB.tp.try[0]

0.5%(BB.tp.e.RT[18]+BB.tp.e.LT[18])-DBB.11a[0]*0.5

0.5%(BB.tp.e.RT[18]+BB.tp.e.L T[18])-DBB.11a[0]*0.5

AVE_time_vs_AVEsum_adc_e18 | AVE_time_vs_AVEsqrt_adc_e18 |

o fresy oo o sy aws oo

e e n

0.5%(BB.tp.e.RT[18]+BB.tp.e.LT[18])-DBB.11a[0]*0.5

i
-0k -20b
0 500 1000 1500 2000 2500 3000 0 500 1000 1500 2000 2500 3000

0.5*(BB.tp.e.RApedc[18]+BB.tp.e.LApedc[18]) sqrt(BB.tp.e.RApedc[18]*BB.tp.e.LApedc[18])

AVE_time_vs_AVE._try_el8 |

0
. o -
4F : PRS-
-6 RSy 3178 + 003872
+

-20!
-0.25-0.2-0.15-0.1-0.05 0 0.05 0.10.150.20.25
BB.tp.try[0]



